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Subtraction (Horizontal) Name:
Solve each problem. Answers
1.
1) 95 - 37 =
2,
2) 859 - 6 = 3.
4.
3 453 - 24 =
5.
4 770 - 608 = o
7.
5 8,938 - 3 = 8.
9.
6) 2,984 - 18 =
10.
7) 3,338 - 674 = 11,
12.
8 9,322 - 4,685 =
9 90 - 9 =
100 83 - 16 =
1) 212 - 7 =
12) 706 - 49 =
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ﬂh Subtraction (Horizontal) Name:. Answer Key

Solve each problem. Answers

1 o8
) 95 - 37 = 58

2 853
2 859 - 6 = 853 s 429

o 162
3 453 - 24 = 429

5, 8,935
4 770 - 608 = 162 o 230

7. 2,664
5 8,938 - 3 = 8,935 s 4,637

9 81
6 2,984 - 18 = 2,966

10. 67
7 3,338 - 674 = 2,664 205

12. 657

8 9,322 - 4,685 = 4,637

9 90 - 9 = 81
10) 83 - 16 = 67
1) 212 - 7 = 205
12) 706 - 49 = 657
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Subtraction (Horizontal)

Name:

Solve each problem.

Answers

{

2,664 429
853 162

81
67

58
4,637

2,966
8,935 1
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10)

95 - 37

859 - 6

453 - 24 =

770 - 608 =

8,938

1
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3,338 - 674 =

9,322

90 - 9 =

1
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83 - 16 =

10.
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